P802.3bt D3.0 — Inrush v102

Info (not part of baseline)

Homework: inrush cleanup.

145.2.8 Power supply output

Change Table 145-16 as follows:

PSE Additional

Symbol i i
Item Parameter ymbo Unit Min Max Type | information

6

Total output current of both pairs of the same polarity during POWER _UP per the assigned Class

Single-signature PD,

Class 1 to 4 IInrush A 0.4 0.45 34

Single-signature PD,

Class 5t0 6 04 0.9 34

Single-signature PD,

Class 7to 8 0.8 0.9 4
34
4

7
Output current per pairset during power up per the assigned Class
Single-signature PD,
I -

Class 1 to 4 Inrush-2P A 0.45 34

Single-signature PD,

Class 5to 6 0.6 34

Single-signature PD,

Class 7to 8 0.6 4

Type 3 dual-signature . 04 66 045 34

PD

g}]l)pe 4 dual-signature 20504 66045 | 4

145.2.8.6 Output current during power up

Power up occurs on each pairset between the transition to POWER_UP on that pairset and the expiration of Tiypysh-2p.
PSEs that have assigned Class 5 to 8 to a single-signature PD shall reach POWER_ON on both pairsets within Tp,pysh.op max,
starting with the first pairset transitioning into POWER_UP, and where the second pairset transitions to POWER_UP
anytime within this time period.

The PSE shall limit the current on each powered negative pair to Iysnop and the total output current on the negative
pairs to Iyysh during power up per the requirements of Table 145—16, with the exception of the initial per pairset transient
described in Equation (145-18) and Figure 145-23.



Info (not part of baseline)

Most of the trouble with Ipsgrrop is that it tries to be clever and handle pairsets and total port currents in one
equation/figure. By lifting out the Iy requirement, the need for this is gone. IpsgrTop now only needs to deal
with the inrush transient. So we replace Ijn,x With Iyprughoop-

The PSE inrush maximum limit, Ipsgrop, is defined by the following segments:

IInrush—2P for 0 <t <ty
50 fortg <t < (tog+10 x 1079)
I p(t) = 50-1 g 0.001+19—1 145-18
pSEIT2p(?) Tiorushop - ( Inrush92;>x><1(()75 +10—1) for (19 + 10 x 1076) < 1 < (1o +0.001) ( )
Iinrush-2p for (o +0.001) <t < 0.075 A
where
t is the time in seconds
Imrshop 1S the per pairset inrush current as defined in Table 145-16
to is the time when Ipoop exceeds Ipyshop max for the first time during POWER—EP during the power up
states.
The range for 7y is 0 < #H<49ms.
Replace Figure 145-23 as follows:
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Figure 145-23 — Per pairset inrush transient limits
145.3.8 PD power
Change Table 145-28 as follows:
PD Additional
Symbol i i
Item Parameter ymbo. Unit Min Max Type information
4 Input inrush current per the assigned Class
Single-signature PD,
I
Class 1 to 6 fnrush_PD A 04 34
Single-signature PD,
Class 7to 8 0.8 4
Buat-stenatare—Pb; 34
Elstst—to—t &= ’
Buat-stgnature—Pb; 6
ClassS N
5 Input inrush current per pairset per the assigned Class
Single-signature PD,
I :
Class 1 to 6 Inrush_PD-2P | A 0.4 34
Single-signature PD,
Class 7to 8 06 4
Dual-signature ~ PD
’ 4
Class 1to 4 66 0.4 3
Dual-signature ~ PD,
Class 5 6604 4




